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2 a. What is M2M IOT elements with architecture in detail.
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Note: Answer uny FIVE full questions, ONE futt

1 a. What is IOT? Explain in sis of
b. Write a short note on IOT real wor
c. Discuss the IOT challenges 1e

question from each
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? Explain its

b. Explain in detail fred IOT architecture with example.
c. Compare and IT and OT

3 a. List types of sensors le.

b. object? Explain
c. T? Explain its
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Module-4
a. Explain structurcd vs unstructured data with example.

b. What is IOT data analytics? Explain its 4 types of data analytics with example
c. What is Hadoop ecosystem? Explain in detail with example.
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8 a. What is Apache Kafka? Explain in detail with example.

b. Explain in detail Lambda architecture with example.
c, What is distributed analy,tics system? Explain with example.

Nlodule-5
9 a. What is Ardino? Explain in detail with example and why Ardino.

b. Explain foundation of Ardino program with example.
c. What is SOC? Explain in detail with example.
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10 a. What is Raspbery operating
b. Explain in detail OS set
c. How do you programming
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